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SECTION -1
©uE -1

CHILD DEVELOPMENT AND PEDAGOGY
e Tammra T framemer
There are 30 questions in all in this section.
All questions are compulsory.

A HE FF 30T T |
aut g7 o ¥

1.  Which of the following is more important for keeping the good mental health of
students ?

(4) Provision for curricular activities

wivirRBSEREET.com

el & o0 IRfes @A F1 T @A & foe f74 o § F9-a1 atie Afus weaqi ¥ 2
()  wedfys fEast #1 yEum
(B) afusafs wt T

(C) wfedl =t fiman
(D) srEATE =t Yfter 05 faemert ammero |
2. 'Child belonging to weaker section’ means

(A) A child belonging to such parents whose annual income is low

(B} A child belonging to such parents who come under the disadvantaged group

(C) A child belonging to such parents who come under the category of below poverty
line

(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

‘RS T F GEE’ @ T §

@A) TR aAfaehl ¥ TeE | T aivF s we ®

(B) U@ fyurges & Ti9F @ I dfgd i & o €

(€ TR rfuuraehl & e @ |1 el Y @ e gy o €

(D) T® Afuraehl & etk € = TR g0 Fifa Fan dm «t affs oma +1 dm @ 99 F
gt § o €
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3. The Right to Education Act, 2002 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratioc required is

(A)  thirty (B) forty
(C} forty-five (D) fifty.

foren =1 efusnr AAfuftm, 2009 § ffde far w0 ¥ 5 *wen-1 9 Fa-5 o 3t vow A
faenfet #t dem €1 W 9 atfus }, @ foaneff-sremmes stavas s €m

() (B) AT
© FarefE D) T=9 |
4.  Which of the following statements is incorrect about action research ?
(A) Itis conducted by teachers and educational professionals
(B) It is conducted to solve a specific problem
(C) Tt is conducted to provide information for decision making at a broader level

(D) It 1s conducted to focus on the solutions of day to day problems at lacal level.

WINERBSEREET.com

B) =z Tt fafoe wwen & wovm + fau fean s ?

(C) = & R Frvla o1 & fan g e w1 & o fea o @

(D) T &R R Ao #: aueEel & g & ol frars e fha wma §
5.  Which of the following statements is not true about teaching ?

{A) Teaching is modifiable (B) Teaching is formal and informal

(C) Teachingisascienceaswellasart (D) Teaching is instruction.

= 4 F-W v fogo & I § g @R 2

(o) foew § gur faa s g B) fawr sy & o= §
() Toero fogm & Wy-w1Y Fen o ¥ (D) oo sgawA ¥
6. The temporary change in behaviour due to continuous exposure to stimuli is called
(A)  Habituation (B) Learning
(C) Temporary learning (D) Motivation.
et 3€o & frem fod o @ sy & w1 aren sreurdt e s @
(A)  AvFE B g™
() oTeurdt sfymm (D) AfyERom |
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The teachers should not use which of the following ways to change the attitudes of
students ?
(A}  Coercive persuasion
(B) Repetition of idea or assertion
(C) Endorsement by an admired person
(D)  Association of the message with a good feeling.
foanfifai #1 stfigfral § uftada & fag f= 4 | frg fafy &1 w&@m sremmas ) 721 wen =gy ?
(&) <T@ d &g o @ faur & fag ust s
(B) fodt faar = U Ay qEargES FTER
) e wiwa =fe & g0 99 @ @idfa
(D) ¥R¥ & Y Ag=d wnfym F |
Which of the following statements regarding achievement motive is true ?
(A)  Achievement motive is necessary for survival
(B) If the satisfaction of personal potentialities is emphasized, the achievement
motive may be classified as a growth motive
(C1 If the stress is on competition among people, the achievement motive can be

tREET.com

(A) Suafsy FAfiiRes Sifaq @1 ¥ fau smavas ¢
B) afe =l wHars #t g Aeayqy € @ Ivafsy Afiitew #1 fawm e S8 o1 9% &
[ afe =afwal § Ay yfaafm w 59 ¢, @ Suafs sfns &1 amfas sfais #a

ka1 &
(D) TTH Q@Y |
During 6 to 10 years children start taking interest in
(A) Religion (B) Human body
(C) Sex (D) School.
68 10 7% FI I ¥ e TG o A FA §
@ wudd (B) HAE IR H
(© el H D) Tamremd

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

()  Trait theory (B) Type theory

(C) Psychoanalytical theory (Dj Behaviourist theory.

#H fagra =% e ¢ % wra ufess & o6 Ft 98t 2E & wd € S f stfyerma: fod
@l & UH IHE e & I T E ?

@& T fag B) vHR fagm

) wfazeromerE fagra D) FHeERER fagH |
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11. ‘Toy age’ refers to

(A)  Early childhood (B) Late childhood
(C) Babyhood (D) all of these,
faeHl @t g’ Fw S §

A) T areEen (B) I AT F
(C) v = D) T | W |

12. Which of the following is not a characteristic of early childhood ?

(A)  Pre-gang age (B) Imitative age

(C) Questioning age (D) Play age.

=1 4 | S-H gd Areameeen & favva 98 § 2

(A) T/ GEE H wA HI Ee (B)  3TTHTU HTA H ITEM
(C) ¥ HTA &) e (D) W Fi FARA |

13. In late childhood period children understand the conversion of which physical
entity(ies) ?
(a) . Mass (B) Mass and number
(C) Number (D) Mass, number and area.

W@Hﬁw%m@%ﬁmmmﬁ%mﬁmﬁ% ?

\/\AA/WRBS REER{ .com

progressive series of changes
(B] progressive series of changes as a result of motivation
(C}) progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.

foaerra 1 @3¢ &
A) IREd 1 IER HEe
(B} RN & wera®y ¥ 9l YRl i A @
() PO Ud YA % FeRaEd T g OfkeRl di SR gaEe
(D) ofUsaar Td WA & FETEEEY T arel gRadH o @ |
15. Which of the following statements is not correct about development ?
A Each phase of the development has hazards
(B) Development is not alded by stimulation
(C) Development is affected by cultural changes
(D) Each phase of the development has characteristic behaviour.
frem s g i dds-a s o @ ¢ 2
(A) I F TEF ATRT F 3T Tl ¢
B ToFE IFAR /F@E A W I DA R
() fawr Oiepfaes wfedHl @ gafes € @
(D) fosma #t YT aeen &1 791 faryard gt & |
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16. The National Curriculum Framework, 2005 under the heading 'quality dimension' gives
more importance to

(A Physical resources

(B) Qualified and Motivated teachers

(C} Experiences designed for the child in terms of knowledge

(D) Experiences designed for the child and curriculum reform.

TF SAEal W@, 2005 § uET SEW’ We % st oifue e fea man ¥
()  wifoe Al =3

B) fofya wd aAhifia seamest 1

(C) vl & fau 3@ & ded § wifaa smval 1

(D) wierh! & T wefea Srqe T TS H gHR F |

17. The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

WwiERBSEREETF-€0m

(D) Al of these.
TET wreTEE wa@, 2005 H 7 F | few wWien g gunl @ gar ™ 2
(A)  Fa- X F wa Uow
(B) Taenmert foen =1 fafys raeenstl | U9 &R it qian d@9e
() wfadrit waw et & thaws
D) T | aHt |
18. Reducing stress and enhancing success in examination necessitates
(a) A shift towards shorter examination
(B) Examinations to be conducted at different stages of school education
(C}  Annual and half yearly exams
(D) Setting up of different agencies for conducting entrance exams.
TAE H FH H Td TS F TR § g mevaw ?
(&) =9 afy =) wepstt d ww
(B) foemerh foan = fafis @l § qfenet w1 smaeA
(C) =it & sTgafis T
(D) fafim waer wensi & fau fafis wifegl =1 sy )
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19.

20.

The purpose of evaluation is

(A)  to label children as slow learner and gifted children

(B) to identify children who need remediation

(C) to diagnose learning difficulties and problem areas

(D} to provide feedback on the extent to which we have been successful in imparting
education for a productive life.

eI &1 3899 ¥

A) =il o i afg @ e are @ gfasmenedt See % w9 H e Sl

B) o Sl F STERAE Wen &) STavEEa €, SO TEEH

(€) s = FisTR 9 A A & H q@ T

(D) JeEF oA A % fog fen fFa dim o §r = o€ &, o1 giEdew yem 0 )
For primary school children, which of the following is better ?

(4) Video simulation (B) Demonstrations
(C) Hands-on-experiences (D) All of these,
muﬁ%ﬁ@mﬁ%mﬁ%mﬁwﬁﬁéaﬁm% ?

: ( _ i1 [
WWM th anger draws up hildren, they go to Plc@im

22,

23.

feel better which of the defence mechanisms is represented by this behaviour ?
(A)  Projection (B) Displacement
(C) Reaction formation (D} Sublimation.

F9 T FEAT & TF ST e DI [ A g A F o & fow 9w 9t § 1 5@ 7w fwowea
¥ o1 HEqE T HW, Ik AGEn ¥ o1 A § F wferean 9 hea € ¢ 2

(&) wETY B foram

(© wiafwan fai (D) SR |

Adjustment means accommodating oneself to various circumstances in order to satisfy
(A) others (B) motives

(C) goals (D) needs.

a9 wE % fafus afitfeafadl o s s ¥ arfs age fea o %

@& T & B) W& H

) SEEiH D) STEvFEas #1 |

Which of the following behaviours is not a manifestation of emotional disturbance ?
(A)  Delinquency (B) Bullying nature

{C) Truancy (D) Autism.

=1 A A $R-T TR IEAIs 191§ vl T € 2

A) IS Ty B) FHSIU FT T awel

(C) wEA (D) wEEEar |
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24. A provision for education for the children with disabilities can be done through

(A) Inclusive education (B)  Mainstreaming
(C} Integration (D) None of these.
Frarm st #1 foa & fow weye fHa s aa ¥

(A) wEEE e g (B) T YN H el
(C) THEE §H (D) ¥ VR T

25. Which of the following is not a characteristic of mental retardation ?
(A) 1.Q. between 25 to 70
(B] Learning in a slow pace and unable to do the activities of daily routine
(C} Poor adaptation with the environment
(D)  Poor interpersonal relations.
=1 o & F-dt 9 g F1 fosem 1= R 2
(A  dfg @fsy o1 25 ) 70 F 7§
(B) Wnﬁﬁﬁ\@mwmwﬂaﬂaﬁmaﬁﬁaaﬂm

(&)
r“ “ks is Rﬁlopnal to the [te chiG@I I l

(A) bearnmg physwal skills necessary for ordinary games

(B) Achieving a masculine or feminine social role
[C) Achieving personal independence
(D) Learning to get along with age-mates.
=1 ¥ @ F-w fawmaeas w1d W aedEe F I9g® T8 8 ?
(A) T G ¥ o stevas TRifte FEewd wha
(B) geuifaa o1 foxanfaa gt yfaswedl &t | e
() Tafhew erfAsitar wH wE
(D) 3T THIW ! & WY wA GG |
27. Training in advance of normal maturation is generaily
(A)  highly beneficial with respect to performance of the common skills
(Bl harmful from an overall point of view
(C) beneficial from a long range point of view
(D) beneficial or harmful depending on the method used in training.
T qfitgeEd | Yge WifeE HT e
(A) EEF HEE & e & He J aga v gl §
® %o foen = efses o
© e g enwwR B ¥
(D) THSH B a1 TR, 96 3760 | Ff oz @ % winem § fom wonr #1 fafy =1 yam
fearmn § |
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28.

29.

30.

10 [D]
Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderciap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in

response to bolt. Jumping of Raju is an example of learning theory of
(A) Classical conditioning (B) Operant conditioning
(C) Trial and Error (D) None of these.

e ad F TS S fagwt F A TEA F @@ ¥ | faeell awEdt ¥ ot Feewy # A
A T 1 TS VIR g7 X ITAT § | SR-9R I% " gt © | e g R wfw & wv=e fasen
Feehdl § | T Tasiedl i 71 Gt IBerl © | TS 1 Ioel e F fohw fagr &1 3w
72

(A) T A (B)  foramE ST
PR ARl T 9§ ®IE E

Which of the followin 1s an example of positive punishment ?
Ef-com
_ ]

W@gmﬁmﬁﬁaﬂq—wm% ?

(a) il % g SuEE B o & WY T SER F
(© Hg frE 5T F (D) TH | wt

Which of the following statements is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal

(B) It satisfies the person's biological needs

(C) It helps in achieving a psychological ambition

(D) It keeps away from an unpleasant situation.

e ® @ F-w wem Ao wE wiEw F ARl T Irgs Wi 7

(&) =T =fE H AT F SR A R

(B) 9% =f® + TR Navaharel 1 €E H@ ¢

() Tg TSI STHE FT WE FE F T FE ©

(D) % =fs & i fefd A @a g |

LTI
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et
WESHFA 30U T |
qft weg fad &
31. Y= % W§] ®9 F1 g7 HIC
(A]  from B fafem
(€}  TqRom (D) o0 |

32. ‘®fa’ # SifEn €9 g

V\szm/ RBSEREET.com

. U%hd % 9 U= A fe) # fa Tt ofiads & g € €, Feen €
(&) wFd B TS
(C) T (D) B9 |
34. v fdl garE F 3 w5 YyH gl IgH FEd §

A TEIEw B) Tgq wHw

(C) WYH §HH (D) OGN THH |
35. Y€ V< ¥

() SIEaE B) IvaW

€) SvEd (D) 5o |

36. EEEEE ®
(A) TR (B) Uy

(C) T (D) YROTTE |

LT [ P.T.O.



L-1 12 @]

37. 'R ® (@3 9’ & F81 I e

(&) W (B) TR
(C© TEY D)
38. wfiaras war & §
(a) ¥ (B) e
C) =gt (D) T&=F |
39. = ¥ 9 5y o ¥ WygE FR%E & ?
(A) TWHREITATFIE (B) THE W HE @E
[C) s A e # FrE Ky (D) fEREEAT |

‘g% @a: 9 9F e’ ¥ 'ag’ wdAm

WWQSZ,:EB SEREE] .com

. &gl foum fugl amen 9

(&) S TF oA o €, FEl § ? B WA IFIE?

(C) < uF o o ¥, el ¥ (D) < 9, o o ¥, FEl ¥ |
42, ‘W F A 3@ F ... JE A T gEER | T W 2

(@) # Amd SHuE W UgT T B H 3 Feem B ws

(© 3 s fer W 98 femn (D) B v gE
43. HE U B

) I A g T B el d Y HE

(C) 3l & el Fie (D) 3@l & wewr e |
44, 'T9 T M 3@ YETR w1 Fweas oY ¥

() THS A A M B) ¥gd a1 &M

(C) & 1 AW FA (D) &Y FHEAr |
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45. ‘Tt e s’ =1 stfiumg €

(A) =R I (B) SEER T WA

© W e (D) WS g ImA @ |
46. ‘faerea’ o= A ¥

(A) = HY (B) =9 dfy

€ fawdi dfy (D) T | *E T
47. ‘"' v # wiy-fosde gm

(&) W+ B W&+ W

€ W+ (D} v+

48, e da=A e #

W\Z‘VXN RBSEREET.com

"IN T SgAEA B

(A] R B)  HRS

€ e (D)  sgE=d T g
50. T oI=ei # W9M ¥ AR %13 uftedT 21 gt & 3% Fey W #

@A) T B) fot w=g

C) AfTFrt vt (D) TESY |

51. 'R’ & faoim o=g ¥

A R B fa=
© = (D) AEF |
52. T T 9 fog g & ot v oeqm § 2
(A T, geH, W98, f (B) B, yd, W], FR
(C) a0, fovam, TR, 9 D) gy, ww, wef, w1

(LR | PT.O.
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53, fra s d's suad TE & 2

@A ey B) PO
€ Fd (D) HAA |
54, ‘T v wm A fFa u A gan ¥ ?
A g _ Bl FfeT
© fa& (D) =
55. o weel vg demEr=s € oiR 9 fedt wye fadiv @ &ty w0g 39 wew ¥
(A)  HUYRF TE (B) &E 9
(C)  oT=ivE wAE (D) fgpEaE |

56. ©gH fhd #1 ST BT T § 2

WWﬁ@ SEREET.com

T AR a1
! B |
(B) Toroep o1¢ e @ ¥HeA © o1 9w
© Toui e =l 3R o fwand <
(D) ol o Rey, v 299 R v @ frm A |
58. ‘HIgd WER W1 W@ R 39 99 ° ILNT §

(A B) SRR

(€ FAE T (D) SN
59. T 4 @ fafya o &

(A} R B) H vgm § R a8 Qo &

(© gdr ugar & (D) FHIgnEFmomar g d |
60. & & ®U7 F1 3§d FW gug Torg faumy fag =1 wam fear 9T & 2

@ faormees fog (B)  r@atw Aq1 35V g

€ werE g (D)  Fade fog | ’
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SECTION - 11
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Pick out the verb from the following :

(A) Create (Bj Creation
(C) Creator (D) Creativity.
Select the correct verb form :

Sachin has ..................... many records.

(A) brokened (B) broken

(C} broke breakened.

(A) reached (B)
[C) was reach (D)

Complete the following sentence :

EET.com

had reached

was reached.

Ifwe .o, a lottery, we will buy a car.

{A) will win {B) have won
() won (D) win.
Supply an appropriate determiner :

Thave ......oovciiiniinnnnn. glass of milk every morning.

(a)  the B a

(C) any (D) some.

The father said to his daughter, “When will you return ?”
In Reported Speech the above sentence will be :
The father asked his daughter

()  when she would return ? (B) when would she return ?

D) when she would return.

(C) when she will return.

| P.T.O.
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37. The teacher salid to the students, “Be polite in your speech.”

In Reported Speech the above sentence will be :

The teacher asked the students

(A)  to be polite in their speech. (B) that be polite in their speech.

(C) to be polite in your speech. (D) that be polite in your speech.

38. My neighbour said to me, "] am going out for a few days”.

In Reported speech the above sentence will be :

My neighbour told me that

{A)  he was going out for a few days. (B) he is going out for a few days.

(C) he will go

out for a few days. (D)  we are going out for a few days.

39. The word ‘magnificent’ is similar in meaning to

(A) very large
(C} huge

grand

vmm,RBgSERE ET.com

innocence.

4]1. Point out the word which ends in a sound ( underlined ) different from that in other

darkness
words :
{A)  who
(C) slow

(B) flew

(D) shoe.

42. Identify the word in which the middle sound ( underlined ) is different from that in

other words :

(B) it

(D)  brief.
the following words has a different sound ( underlined ) at the

(B) cell

(D)  psychology.

44, Point out the word which has a different sound ( underlined ) at the end :

(A) seen
(C) heat
43. Which one of

eginning ?
(A) sure
(C) sell

(A) laugh
() high

(B)  graph
(D)  half.
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45. In which one of the following words do the letters ‘th’ have a different sound
( underlined ) ?

(A)  this (B)  that
{C) there (D}  thin.
46. Choose the correct order of words :
(A) Do you live where ? (Bi Do live you where ?
(C) Where do you live ? (D)  Where you live do ?
47. Which of the following has a correct sentence pattern ?
{A) He gave her a book. (B) He gave a book her.
(C) He her gave a book. (D) He a book gave her.

48. Complete the following sentence with the correct option :

The sky suddenly became .....................eee

W= RBSEREET.com

49. Which one of the following words is a noun ?
(A) Write (B) Wrote
(C) Written (D) Writer.

50. Supply the correct pronoun :

Arun and Lata have a house. ........................ house is quite big.
(A)  Their (B) His
(C} Her (D) Theirs.

51. Supply an appropriate determiner :

My neighbour is ............coeinii. honest person.
A) a {B) an
(C) the (D)  any.

52. Which one of the following sentences expresses ‘possibility’ ?
There are dark clouds in the sky. ............cooenn, .
(A) It will rain (B) 1t shall rain

(C) It may rain (D) It must rain.

(UL [ P.T.0.
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53. Pick out the sentence which has the meaning as the following :
No other animal is as brave as the tiger.
A The tiger is a brave animal
(Bl The tiger is as brave as any other animal
(C)  The tiger is the bravest of all animals
(D) No animal, except the tiger, is brave.

54, Complete the following sentence with the correct form of adjective :

Anupam IS ......cceeenienninnns boy in the whole of the class.
(A) the tallest (B) the taller
{C) the most tall (D) the more tall,

55. Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.

The questions were very difficult.

SEREET.com

Only the last question was very difficult.

56. The opposite of ‘'similar’ is

(A) unsimilar (B) insimilar

(Q) different (D) near,
57. The word ‘approve’ is opposite in meaning to

(A) confirm (B) reject

(C} accept (D) return.

58. Pick out the word which is spelt correctly :
(Al sinceerly (B) sincierly
[C) sincerly D) sincerely.
59. Which of the following words has correct spelling ?

{a) knowlege (B) knowledge
{C) knowlidge (D)  knowlige.
60. Which one of the following words begins ( underlined ) with a different sound ?
{A)  kite (B) cool
(C) chemistry (D) city.
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SECTION - 11
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

61. Which one of the following words ends in a different sound | underlined ) ?

(A city (B) sky
(C} by (D) try.
62. ldentify the word which has a different sound { underlined ) in the middle :
(A) foot (B) should
(© wood (D) food.

In which one of the following words does the letter ‘i’ have a diifferent sound

i RESEREET Com

(D) film

64. Pick out the word in which the letters ‘ch’ have a different sound ( underlined ) :

(A) check (B) chess

¢ chemical D) chairman.
65. Which letter of the word ‘comb’ is not spoken ? .

) c B) o

(€] m (D)

66. The opposite of the word ‘optimistic’ is

(A)  pessimistic (B) hopeful

(C) ideal (D) dull.
67. The word “innocent’ is opposite in meaning to that of

(A) clever (B) ignorant

(C) active (D) guilty.
68. Pick out the word with the correct spelling :

(4)  varaity (B) varietey

(C) varieti (D) variety.

LT LI [ P.T.O.
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69. Which one of the following has the correct spelling ?
(A) impresive (B) imprescive
(C) impressive (D)  impressiv.
70. Point out the word which begins with a different sound ( underlined ) :
(A}  house (B) home
(C) honour (D) hen.
71. Mohan sald to Savita, "Can 1 borrow your book for a day ?"
In Reported Speech the above sentence will be
Mohan asked Savita
(A}  if he could borrow her book for a day
(Bl  if they could borrow her book for a day
(C)  that could he borrow her book for a day
(D) if that he could borrow her book for a day.

ML REBSEREET.com
PATAVIVATLYAN ¢ o W o .CO
She asked her brother
(A)  to not buy mangoes (B) not to buy mangoes
Q) do not buy mangoes (D) do not to buy mangoes.
73. The students said, “We want to learn a foreign language.”
In Reported Speech the above sentence will be
The students said that
(A) they want to learn a foreign language
(B) they wanted to learn a foreign language
{C) we want to learn a foreign language

(D) we wanted to learn a foreign language.

74. The word ‘courteous’ is similar in meaning to

(&) related to a court (B) impolite
(C) polite (D) kind.
75. Which word has a meaning similar to ‘significant’ ?
(A) prominent (B) magnificent
(C) efficient (D) important.
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76. Complete the sentence by putting an appropriate determiner :

You should always carry .............cooveviee umbrella with you.
A a (B) an
(C) any (D) a few.

77. Manjit sald to Anisha, “Could you please open the window ?"

In the above sentence Manjit is

(A) asking a question {B) giving an instruction

(C) offering advice (D) making a request.
78. No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(A)  Raju is intelligenter than any other member in the family

(B) Raju is not intelligent

(3] Raju is more intelligent than any other member in the family

WAMERBSEREET . com

[t Was oo e, car he had ever driven.
(a) the more comfortable (Bl the most comfortable
[C) the comfortable (D) the comfortablest.

80. Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.
(A)  Mahim got the higher grade than any other student in the class
(B} Mahim got a high grade than any other student in the class
(C) Mahim got the highest grade in the class
(D) Mahim got the high most grade in the class.
81. Pick out the correct sentence :
(A)  There are shop near my house. (B) There is shops near my house.

(C} There are a shop near my house. (D}  There is a shop near my house.

82. Select the correct form of the verb :

She ..ol the right answer.
(&) knows (B) know
(C) is knowing (D) known.

LELITLEL [ P.T.O.
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B3. Fill in the correct form of the verb :

When the phone rang, we ............c..oooeene, television.
(A) watched (B) are watching
(C) were wailch (D)  were watching.

84. 1f Radhika had received an invitation, she would have gone to the party.

The above sentence tells us that Radhika

(Al did not receive the invitation (B) had received the invitation

(C)  is waiting for the invitation (D)  did not want to go to the party.
85. Fill in the appropriate determiner :

The ring is made of ..................... gold.

(A} the B a

(C) x [(no determiner )

Vi RBSEREET .com

(C} Using (DY Usefulness.
87. Complete the following sentence with the correct option :
My grandfather walks very ..........coceeiiinnnen .
(A) quick (B) fastly
(C) fast (D) nice.
88. Which one of the following has a correct sentence pattern ?
(A)  She put all the books on the table. (B) She all the books on the table put.
(C) She put on the table all the books. (D)  She on the table put all the books.

89. Choose the correct pronoun to complete the following :

This book is .......oveveeennn.ol, , and that one is mine.
(A) our book (B) your
(C) yours (D) yours book.

90. Choose the correct word order :
{A]  Why she did leave so early ? (B} Why did she leave so early ?
{C) Why did so early she leave ? (D)  Why so early did she leave ?
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sl HHIE? 63 ol 65 SHiScll URatlell valol AUl

A RESEREET.com

)
(C) y»id (D) Rul.

‘Ul Aed 2 ?

(A) $d (B) AUiv
) edle (D) ol
aisAHi 5! eiid @15 2dd 8 ?

(A) od (B) Geaa
(C) [o2u (D)  2udic.

ofldell UWldad 2HiER usell 66 2l 69 ol yauot zuul.

Hol A yadlefl 65Hd HAl As awel dl

uddi dl §13 5 aegsy au o awell

U il uvll-nager-ugy o slesel

olfatel Mellsll o 65, GRdloll 65 oell

sldoll udel aegsy sl gol ?

(A) cfld waalel &5 &

(B) wo2ld setdiell &5 S18a oiell

(C) witud wadisll 655 8, 2112 BHovlal Rldlell 655 otell
(D) uvll, soppar Al uilA 2lilcell 234,

[ P.T.O.
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67. sfie Sedl 2012 W yedlon 2AM cloiq 8 ?
(A) a6 (B)  daicu 2142 wie
(C)  &sl2ama e (D)  Acdid ¢St 2AHA W2,
68. sk W2 st auidld 210 54l 8 7
A  &fud (B) dessu
(C) & (D) e&eq
69. 5lAel um sl 8 7
(A) o dlsl (B)  uvll, Hoprat, ug|, Slesl
(C)  uguvll (D)  uopr Rrataasit daxd 2al.

70. el S2AL USI1HI AlE ilsaal sla 8 7

(a)  ana 2lcle
(C) &g
Ve VAP BSEREET com
(B) all3e
(C) Hlal (D) 2lon,

72. vded A Hd2L s2di Glall uel 245 s2di llul 8. Al A Hd2l 524i Gial uer Qv s2di ol
8, dl 2lefl Al sler ?

(A) s (B) né&a

(o) 0 £ (D) 3lad.
73.  dperadl uldcepii gul w2 sle yvad 8 ?

(A)  e2fie (B] vl

(C)  Waueie (D)  earRM.
74. A5 & o Ulsani 2% 520 24€2 et (AR ¢f 58 8 ?

(A)  2nu (B) 2ilde

(C) &4 (D)  Aeld.

3

75. [igel ell3amii ulaisdl Hidl g2l dudidl 2lldql ) 5& 8
(A) 2dqfa (B) a1

(C) e&wa2si (D) w32,
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76.

77.

78.

79.

0

81.

82,

83.

84.
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N didci sicell 2uimel (a2 ofidiR 6dl, dl veudl 3 udsi sicell ugdlal Razi sal g2l 2

(A)  opRarR (B)  gsar
€ alar (D)  2fal.
ofldeitiiell sl enate 2uycell el ud 8.

A B) G

© A ‘ D) .
viilleoroan yprl. Riell, valél, ............ , stBauasl.

(A} GE (B) ol
(C) radl (D) ueodl.

“Hiol clsel ot v Bl 2220 A51A &7 (et 2ul Ridid (ko edded.
(A)  Sedls ot 2 22214 A5 @
(B} oiEll o121 1 2221d 2As12 &

() Becls ozt 1 22210 uR o2l sl
WMEIRBSEREET.com

(A) dR2ALE

(C) il (D] [denet.

2Am208] A2512 cRd HIE A o2l

(A) 2 (Qeusl A &, (B)  2u (dtust sdet 8.

(C) 2 (Aend 2Acs & (D)  2u [@eua ydezen 8.

s 20l 218 s2disttl adlal 2Alelell S2di e u2 2208 S2dlof AR UAE 52 &, w1 HE A Slaitell
ueildd 8§ ?

(A)  uwduai (B) olGid
(C) «af (D) uAlo.

aels A ogendel yxn &, a2l A Hlotioll Yol . veud 21 Mouou 22121 S, dl sl a2l
20loll 21l 2ivi & ?

(A) oud B} [leae

(€C) Qi (D) s181.
lEeutoll el & .......

(A ax 2dBRs Bau (B) vl g «1él
(C) Alkdw)dl 4l g2 (D) Hiatd Adl.
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85. ‘el 228 vtetladia e v psiedl A 8.7 it ([Atuet uzell 2f ddl s ?

(A) el aiRarR 2:2118c1] leiE el 8 (B} v« &2l 220861l 2HIdiE el 8
(C) aoll oiEll videll 22118011 210ie A & (D) ol 221datl AHioiE ot2fl dai.

olldoll ulF2OE qizlld 86 20l 90 u=slloll vaiot ).

udel azane usaL ugloll dloll Alest 242i WA voldell viEn o ugept (3551 usl v | wdleu
seiseptiell auad) i puuRi 2sasepi As1s1R Al B, cdila dl v AditA 8. il
21y a1 il 248 2Ad] 8] 21221 it B L.

A qubhq 6 ISRl B 8. [Asud Gount-Braumnisl 215udi §3la el B Hildis
vigeni sueai 8, uet anldll avilBddia ugld uldiell s 20l 8. aubigeA Hieia 2izglia 20El
8, aadl & 4 [@saadl 8. eudla 2i2glisl audl 21 g 20 alol aad 8. well v Ya«nid
8a?

QIBi-igolld B5d Seeti, Vofeyfdsl gRd s2et2, ciell 2a Awlld Ggelfia s26R dl mel
2L AS o hq ! ([dReel deoud GlepuR d21d Ha Fictstsll uola Nuzll deello s2. slalA gai,
8E, 2121, 2lld, ANd, ARG B eyl 2dvll 8. was(d silterRl ‘Hagd’ Hi aarivdl [d6

WERERESEREETT0M

oaldeli ol o ugpRt Slell 2w (3ss1 udl wa 8
(A)  de2lE (B) Wl 2qia
(C) cdiMisl (D)  28dseL.
87. aeyd Sld o] & ? .
(A) 2iegla (B)  QGWfi-2ugdl
(C)  well (D)  wdlell 2pid.
88. il ufFDeni 56 el nsrasll el & ?
A)  auwl (B) (&2
(€) &id (D)  ag2id.
89. aarRivdl [Resals qeid 2umi 2 & 7
(A) €&l (B) 9E
(O Augd (D} 2o,
90. “‘delloy 524" oll anel o 2na ?
(A)  2saq (B)  eflevaq
(C) el §2q (D)  ®©ie1 Gsisal.

TN L 101
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Section - IV / @Us - IV

MATHEMATICS / Tfura
There are 30 questions in all in this section.

All questions are compulsory.
W Es H FA 30T € |
Tt w1 sfEE €
91. Which of the following is true for a triangle ?
(A)  All the angles are always acute angle
WWW.RBSEREET.com
(C) One angle is always an obtuse angle
(D) One angle is always an acute angle.
TR FfufE I IA-aFE g g ?
(A) TEE HO GEF A FHV e F
(B) TH HIV HeT WA Bram §
(C) U& &V §ia At Fv gar &

(D) & &IV §39 T &IV gran & |

A [ PT.O.
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92. How many triangles are there in the following figure ?

N

A) b5 (B) 4

cr 3 (D) 6.

fefasd e fygw € 2

WwwWW.RBSEREET.com

A 5 (B} 4
& 3 (D) 6.
93. The sum of all interior angles of a square is
(a) 180° (B) 360°
c 270° (D) none of these,
T F AR A H FH G g 2
(A} 180° (B) 360°

© 270° (D) T A HE =T |

(LR
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94. Which of the following statements is correct ?
(A) A square is a particular type of rectangle
(B} A rectangle is a particular type of square
(C) Every ray is a line segment
(D) Straight angle is of 90°.
fAdlsR-wsEaat ?
(a) =1 T fa¥ry ysr w1 3 o @
3Td TF fa9N R %1 99 g ®
Wwww=RBSEREET.com
(D) &Y/ TA FTU F AG 90° Bt ¥ |

95. One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
3.9 (B) 30, 90
© 3.9 (D) 30, 9.

foredt oM 1 & e AR B 250 ™SS U=dl § 1 TF @edt 75000 Wt g g+t ® (@ 9%
gy vt @ 3R 3T F1 g 7 *0 & fow 38 R fFam 99 o g0 2

@ 3.9 (B) 30, 90

{C) 3, 90 (D) 30, 9.

(I [ P.T.O.
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96. What is the highest common factor { HCF ) of the numbers 425 and 476 ?
A 4 {B) 5
@) 17 (D) 51.
Hemsil 425 AT 476 FT TE9TH GHYEHH ( Ho Ho o)
A 4 B} 5
(@)} 17 (D) 51.

97. What is the least common multiple ( LCM ) of the numbers 90, 60, 75 and 35 ?

(A) 2700 (B} 6300
4250 i { 2750%
2700 6300

(C) 4250 (D) 2750.

98. Five persons paint a house in 3 days when they work 8 heurs everyday. Then if one
person works 4 hours everyday, how much time { day ) will he take to complete the

same work ?

@& 30 (B)

(D)

sle i

© 8

TF HEM & AR 5w, g€ U w1 & 3 o v ¥ @) 1=, 4 €@ U9 w9 wFH
IW FM F famrad i 7 wm 2

15
A) 30 (B) 5
6 3
(®]] 5 (D} 10 -
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99. The marks obtained in 4 subjects in an examination are 200. If the average of marks
obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
(A) 50 (B) 144
(C) 152 (D} 56.
T wen ¥ IR fawdl F wm g i 200 ® 1 Afg @7 fawai A wmw sl @ oftwmw 48 % o =9
fawa o W oie &
(A) 50 (B) 144
(Cy 152 (D) 586.

100. A person sold a cycle at Rs. 935 with a gain of 10% then at how much amount did he
purchase the cycle ?

(&) Rs. 945 (B) Rs. 850

(© Rs. 925 (D) Rs. 1,085.
@aﬁsﬁqmﬂwﬁB § o @i 4t ?

[C) 925%o 1,085 %o | : :Ill

101. Write the following four numbers in descending order :

I. 4203567

I1. 42036bH7

II. 4203756

IV. 4203675
(A I, II, I, IV (B) I, v, I, 1
G 11, IV, III (D) III, 11, Iv, 1.
Frfafad =R demsd # sEE w9 | fod .

I. 4203567

II. 4203657

. 4203756

IV. 4203675
(A) I II, III, IV (B} IIL, IV, II, 1
(C) L II, IV, 1II (D) I, 11, IV, 1.

(LT [ P.T.O.
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102. One crore is equal to

(&) 100 lacs (B) 1000 lacs
(©) 10 lacs (D) 100 thousands.
TF I TR §

@A 1009\ F (B) 1000 ¥m@ &
€ 108EF (D) 100 &SR & |

103. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as

59004988 (B) 590400988
T& 5H08 9@ 4TIR 96 e @i il ¥ faw T wa g #
(&) 59004988 (B) 590400988

(C} 509049088 (D) 50904988.

104. The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is
(A) 20883 (B) 21883
[C) 20893 (D) 20783.

T Tid & Fol TAEEA 78692 % | T W 29642 W ¥, 28167 Afgad ¥ awm ww w=w ¥ 1 @

o= @ G §
&) 20883 (B) 21883
(C) 20893 (D) 20783.
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105. If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively
4 0,60,0,0 (B) 60,0, 1, 0
({C) 0,60,0, 1 > 60,0 0, 1.

YA H 60 FH U T W 9N, WINH, WIThHA T A9ES How: ¥
(&) 0, 60,0, 0 B) 60,0, 1,0

(C) 0,60, 0,1 (D) 60, 0,0, 1.

106. On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we

get

wwieRB SEREET .com

12 Hifew 27 8 faee 8 § 8 wifew 29 50 freium werd Ty € &
(a) 3Hifes 27 8 fadea (B) 4w 27 7 fw@ea 50 fwen
(C) 4 Tifgw 27 8fadea 50 fFal Tm (D) 3¥ifgw =7 8faged 50 fFet Tm )

107. A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
{a) 12 1t 500 ml (B) 13 1t 500 ml
(Cy 151t 500 ml (D) 14 1t 500 ml.

T I § 400 @i AT ® | 398 € 12 ©eX 500 fieifieier 9t &M § 91 & =15 99 I i
A WG & 25 fesl § wo 9 &t vl fe= ) g @

(a4 12% 500 o< (B) 13 &t 500 fuei
(©) 15%t 500 fuet (D) 14 500 fA=t |
(T [ P.T.O.
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@]

108. Which of the following statements is incorrect for the time taken by big hand of a

clock to reach from one digit to exactly next digit ?

(A) 5 min (B) 300 sec

Q) 11—2hour (D) one hour.

ot 7 72 g & foat oiF | i o7 of % e ° @ 9 §ug % fau e d | wh-w
IEE T ?

(a) 5fEre (B) 300%F<

© 1z 0

109. The length and breadth of a rectangular field is 60 m and 40 m respectively. 1f on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass
planted field is

(A 1100 m (B 5

waan:RBSEREET.cam

(A) 11007 (B) 52591 @t
(C) 110097 #t (D) 5251 |

110. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y
is of side 80 cm. Then which of the following is correct ?

(A)  Perimeter of frame X is 6300 sq.cm
(B) Perimeter of frame Y is 6400 sq.cm
(C)  Perimeter of both X and Y frames is same and is equal to 320 sq.cm.

(D) Perimeter of both X and Y frames is equal to 320 cm.

T AR (99 & WA XH1 o=rg 90 96 qun Wer 70 4 ¥ R uw SR W YH e
gouWg AfA i A *R-TFATH T ?

(A) W X % 9RE™ 6300 & |9 g

(B) WA Y &I 9fEM 6400 T ¥H ghm

(C) TN WwHE X qA Y & IRHM SUER TS 320 I WA EOM
(D) A WE X g YF IR 320 9H & SUeR ghT
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111. A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs, 7,250 after 3 years then what is the amount of loan ?
(A) Rs. 5,000 (B) Rs. 4,500
{C) Rs. 6,500 (D) Rs. 5,500.

T (w1 A% A $S T 15% afudh = Hi 5L ¥ IUR fe=n | 37§79 a1 9% 7,250 Fo
o o &, o) 39 T suan SuR fam o ?

(Al 5,000 Te (B) 4,500 %0
[C) 6,500 %0 (D) 5.500 %0 |

112. What is the interest on Rs, 500 for six months with a rate of interest 8% calculated six

wwyy. RBSEREET.com

500 Fo F1 6 T2 &1 8% Ht BHR! < 4 =41 T
(A) 20%o (B) 30%o
(C) 48%o (D) 40%o |

113. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a

gain of 10% to another person Z. What is the price at which Y sold the article to Z ?
(A)  Rs. 100 (B) Rs. 99
{C) Rs. 110 (D} Rs. 101.

TF Afe X, 100F HIaeg &, 10% F FH GG Y H AW | Y, 39 9% F 10%
oM Y ot ZR agem e, @ v A forw T Wawg Z F A= ?

(aA)  100%0 (B) 99 To

(€} 110%0 (D) 101 %o |

ITTIEREE | P.T.O.
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114. Which is a plane in the following ?

(A) Paper sheet (B) Glass

(© Ball (D)  Cylinder.
f Tegall F ¥ FA-w wHee € 2

a) =™ B) fremw

) 7R D) ST |

115, Which of the following statements is not true ?

WWYA RBSEREEF-e0m

A closed figure formed by three line segments is called a triangle

(C) A figure formed by three lines is called a triangle

(D} In a rectangle the length of opposite sides is same and each angle is a right

angle.

I d Y SH s FAE ?

(a) foredt T fog & oA aet 2 Rl | o et B o e §
B) fw=t o YEravel 4 bl g 9 ogfa B e e ¥

© for=l 99 wansl & fot afa & forye w0 #

(D) T St SAHA-THA it YIS HI T=E FHH S & T2 TeAF H9 GHHIY B € |
HTHHLH
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116. The value of 15 coins of 25 palse each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise
II. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise
III. 3 coins of one rupee + 3 coins of 25 paise
IV. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is

@ I (B) I

A 1 (D) IV.

2598 % 15 foaw) =1 A9 IO ®

WWWaRBSEREET .com

IIl. TF %o & 3fasa + 2500 & 39k
IV, uH % & 3fgaFr + 2590 & 2 fass

ST IR H | 7o HYA §
A 1 (B) III
{C) I1 (D) Iv.
117. The arrangement of the fractions % g —13- . % in ascending order is
W 2483
fa '%.% %.%wmﬁ'ﬂ%

LI [ P.T.O.
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118. If the cost of 5 pencils i1s 33 rupees then the cost of 2 pencils is
(A) Re. 231‘ [B] Rs. g‘
(C) Rs. % (D) Re. % .
afe 5 ufwel &1 4w 32 wo &, @ 2 A #1 qeg g
(A ?_l Fo (B) g To
© %o O 2%

119. Which of the following statements is true ?

WWW:RB SEREET.com

lisa compomte number 2 is not a prime numb er
e % @ wF-w Fu3 e R 7
(&) 1IN T T € B 1 AWg HEN
C) 149g®%EeAE (D) 2 AN TEA TEl & |
120. The prime factors of the number 720 are
(a) 2x2x3x3Ix2x5 (B) 2x3x4x5x6
[C] 3x3x4x4x5 (D) 2x2x2x2x3x3x5,
& 720 F A UGS
(Al 2x2x3x3x2x5 (B) 2x3x4x5%x6

(C] I3x3x4x4x5 D) 2x2x2x2x3x3x%x5,
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SECTION - V
|vE -V
ENVIRONMENTAL STUDIES
UHIGRuT T

There are 30 questions in all in this section.
All questions are compulsory.

WETE Y FA 30AF ¥ |

|t 9w g ¥
121. Full form of CNG is
(A) Common National Gas (B) Compressed Natural Gas
-RB SEREEF.com
. _&![ ]
@A)  FEA e T (B) wFERE T M
(C) & T | D) wiEwEEs TgW

122, Wildlife Week is celebrated on
(a)  1st October to 7th October
(B) 15th October to 2 1st October
(Q) 1st June to 7th June
(D) 15th June to 21st June.
T4 9 FHE WA ST ©
(A 1A H 7 A TF
(B) 15 S H 21 I T
€] 15F¥ 73H
(D) 153 H 21 5 T |

i [ P.T.O.
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123. State tree, state bird and state animal of Rajasthan State are
(A)  Khejari, Godawan, Chinkara
(B) Khejari, Peacock, Tiger
(C] Babool, Godawan, Lion
(D) Mango, Peacock, Tiger.
TSRUM TG % T4 g8, U9 Uaft e To0 o) Hou: §
) @St TreE, fHER
Www~-RBSEREET.com
(C) =@, TeE, I
(D) o™, HR, = |
124. In which state of matter, the distance between the molecules is minimum ?
(A)  Solid (B) Liquid
(C) Gas (D) Plasma.
ety 1 fRE oraEen § Syvpel % W Y O gAGH BT § 2
@& = B &

€ = (D) A |
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125. Which state is known as ‘Tiger State’ ?
(A) Rajasthan (B) West Bengal
(C) Gujarat (D) Madhya Pradesh.
FFE-T T TR R F AW R A e &2
(A] TSTET B)  9fF=H S
(C) TRm (D) HE W |

126. City of Lakes in Rajasthan is

wWWL.RBSEREET .com

TSRyE # Sl S T E
@ AR (B) SIYY
() I (D) T |

127. Who built the Vijay Stambha { Tower of Victory ) 7
(A) Maharana Kumbha (B) Maharana Sanga
(C) Maharana Pratap (D}  Maharaja Jaisingh.
foaorg Ty fova senan ?
(A)  TERION HF (B) HERION M

(C) HERM W™ (D) HERIST SAfEE |

(LT [ P.T.O.
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128. Following traffic sign indicates :

(A)  Major road (B) Pedestrian crossing
(C) Railway crossing (D)  Narrow bridge.
foifera amarar dehd &1 a1 €

WwwWW.RB3EREET.com

@A) = HsH (B o wRuy

(C) =& s (D) E&U gierEn |
129. Full form of ATM is

(&)  Automated Teller Machine

(B) All Time Money

(C) Automated Transfer Machine

(D} Audit Teller Machine.
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T A R

() TEAYE ER "

(B)  oTeT 2 WA

(C) #ARME THw 7

(D) &TST o TEiA |

130. Message sent by computer is known as

(A) SMS (B) FAX

(C) E-mail (D) Telegram.
Froe & M A WS ST 9 W e

wwwy.RBSEREET.com
[ n
© 3= (D)  <efom
131. Nuclear family refers to

(d)  any family born after 1950

(B) family includes parents and their children

(C)  entire family including children, their parents and grandparents
(D) only husband and wife.
Tl IfEn @ ad &

[A) =9 1950 % &1 1 IR

(B) wf@w f5ed #mr-foa o 57 5=

€) @yl SR Ed 9=, 3% Ao o ger-aet

(D) oot 9fa-Tet )

(LT [ P.T.0.



L-1 84

132. Tobacco addiction is due to

(A) Cocaine (B} Caffeine
(C)  Nicotine (D) Histamine.
T, it 3Ted foRw @ gt ® 2
(A) R B FHA
() frenifes (D) feedl
133. What are the minimum ages for marriage of boys and girls in India ?
(A) 21 years and 18 years

(B) 18 years and 21 years

WWUWL.RBSEREET.com

YA § TS 9 SiRdl @i faaTg a9 =Ead g F# ¥ 2
(A) 21999 189
(B) 1897 2194
() 18=dd 1894
(D) 1894 d 1699 |
134. Main occupation of people of Rajasthan is
(A)  mining (B  bakery
(C) poultry farming (D)  agriculture.
TTEA % STl o1 T qadd &
(A) @ (B) &

) it (D) =¥ |
LT
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135. Which of the following places of Rajasthan does not have sugar factory ?
(Al Keshoraipatan {B) Nimbahera
(C) Udaipur (D) Bhoopal Sagar.
e ¥ 1§ @ R e W yee 9 & Fa 6wl f 2
(4)  HETEUES B) framew
€) 3FEER (D) YU GrR |

136. Which of the following has maximum speed ?

wWly.RBSEREET.com

Tretatea ¥ frge an afuwaa € 2
(A)  T4d (B} STaym™
€ = D) W |

137. Which energy is converted into electrical energy by a solar cell ?
{a) Chemical energy (B) Nuclear energy
(C) Solar energy (D) Magnetic energy.
SR O g fohd Sul o fagn i § wgen w1 9@ & 2
@ Tt el @ TfwEE wei
(C) W Tl (D) TFERF Tl |

U | P.T.0.
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138. Maximum amount of gas found in air is

[A) oxygen (B) carbon dioxide
(C) hydrogen (D) nitrogen.

& H waifys A ¥ gt 9 At e ¥

() s (B) FEA TRAFEE
€ FRgISH (D)  EEISA |

139. Renewable source of energy is

www.RBSEREET.com

Fell T ARG He &
(A)  hIgem (B] WifeEm
(cy 4 (D) FFEs )

140. Ozone layer is found in

(A) Thermosphere (B) Stratosphere
(C) Troposphere (D) Mesosphere.
A w foerdt §

(A erteE (B) WITHR
(C) griremiR | D) fosienER F
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141. Carrier of Dengue disease 1s

(Al  Aedes mosquito (B Culex mosquito

(C) Housefly (D)  Anopheles mosquito.
1 M w1 e ®

(A T A= (B)  FiH ST

(C) = werddt (D) WHIRHRAS T |

142. The blochemical laboratory of human body is

www.RBSEREET.com

intestine kidney.

T ¥ TR @ gt yaee §

Ay AHRE B) FFd

(C) 3% D) 9% |
143. Aim of Pulse Polic programme is

{A) treatment of Polio

(B) stop paralytic effect of Polio

(C) complete eradication of Polio

(D) all of these.

IEHTHL] [ P.T.O.
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o NfAA FRwEA F1 S2Ed §

(A) HifeE =1 IyER
(B) Uifadt | I Tl S U
(€ WfeTd =1 ool I=EE HAl
(D) FTHFaA
144. Kashmiri Gown is known as
(A)  Firan (B)  Angrakhi
(C) Bugtari (D)  Achkan.

FHYHH 9 FEerar §
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145. Habitat of Dog fish is
A River (B] Pond
(C) Lake (D) Sea.
Tl Yool 1 @™ ¥
o) B) A
© ¥ D) R |
146. In case of fraud or unfair business behaviour, we should lodge a complaint at
(A) Consumer Protection Forum
(B) District headquarters
(C) ‘Tehsil

(D) Gram Panchayat.
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(A)  SUNIR W 1w
B) Ten gemeE #:
©) eHE H
(D) T d=rEd
147. How many members of Rajya Sabha are nominated by the President ?
(A) 12 (B) 18
) 20 (D) 22.

TEafa 50 TgaH ¥ feHay sem TRk s ¥ 2
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148. District industry centre provides employment to urban and rural youths under a

scheme known as
(A)  Prime Minister's Gramin Sadak Yojana
(B) Prime Minister's Rojgar Yojana
(C) Jawahar Gram Samriddhi Yojana
(D) Swarna Jayanti Gram Swarojgar Yojana.
e sem = fopw A1 & d8d Ve T TIHO Fahi R ISR qRA HE T 2
(A)  FUEEHA TIE GSE GreE
(B) WYl TSR Ao
(C) <Ewe W wyfg s
(D) T S W SR de |
(T [ PT.0.
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149. Which country has the maximum number of tube-wells in the world ?
(A}  America (B) Australia
(C] China (D) India.
HER & s 2 e W E R 2
(A}  emAfe (B) smfean
© =m D) R |
150. The Gangaur festival is celebrated on
Wwa-RBSEREET.com
Shravan Shukla Teej
(C) Bhadrapada Krishnapaksha Ashtami
(D) Chaitra Shukla Navami.
TORTR 1 EER T S 8
(A) = g A w
(B) W YEA WS HI
C) YT FOUE FEH H

(D) BF YA AAH BT |
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INSTRUCTIONS / ﬁigl
{ Read carefully and comply / @ ¥ g 3R ute &7¥)
IMPORTANT / R&eiqul

1. In Seclion Il (Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language ! in the Online Application Form.

GoE ) (9T () # T A & A F e Fe AEd & o 9 o T g 3 AT [ R § Sene ey § R

2. In Section Il [Language Il} a candidate has to attempt the questions of the language which the candidate has selected as
Langua_\‘?e Il in théeF Online Apptlication Form. The Language 11 will be different {[rom Lang

uage
et ST § e T T e S 3 ) B e N S S 4 ey &1 T 1 T 0 @ o

Qug
3. The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
OMR Tz ¥ T T ¥ G i WE W
L. Read complete instructions carefully and fill the details from S1. No. I to 6 in the OMR Answer Sheet and S1. No. 1 to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your Answer Sheet.

P =1 of w0 & q‘%aﬂtm1ﬁ6aa¥ounwﬂa@m1ﬁ4ﬁmqﬁa$r(§-=bﬁz)aﬁwiluﬁmwaﬁ%#
foraror st a1 wRemeR R # B oMR Wi F T & Torawy g A ahomdt F 9fd A wd IeEn gt

2. OMR Sheet No. should be written in the space provided in the Question Booklet.
oMR e e v qRaw 7 & m Fruifea @ o fordt R e |

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Booklet seals, Check whether the Booklet contains 150 questions starting from Page No. 3 to 90
T Gl H 96 T U 150 WA £ wORTE MEw f5g WM % 3w & oue @ﬁ%l?ﬁ ¥ | & e
150 W € 91 i TS5 W 3 § W EiF 00 O ¥

4. All guestions are of MCQ (Multiple Choice Questiona) type There is only one correct answer to each question carrying one
mark There will be no negative marking for wmng answe

TR F &1 T4F Ve @1 0F [aohed ﬁaﬁﬁlmmﬂs%ﬂﬁ%ﬂﬁamwhwmﬁ%&ww

w# ﬁ'&
5. All questions other than language questions of Sections II and III shall be bilingual.
W¥ A & WINT Watad §vE 00T m & W afaies vl w@oel & wye e g
6. In any event of any mistake in any question/s, candidates will not be penalized. However no cotrections will be made in

uestion/s durlr%%t‘he e

¥ T OTreTeET T =TT : T - !
may C : i i a ided a of t Bonklet 0

ooklety NO additi 8 . .

5 T ey = ¥ ey | ot g 1

8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not

allawed Their use will result in dlsquahﬁcatmn
, T FA, Werel ®H, 71, fesliest T @ flt o veR o et SwEw / aeg w v At ¥ e

atrqﬁ‘rr T T § S i T o T

9. OMR Answer Sheet will be provided along with Questlon Booklet separately.
OMR T2, w9 QR & a9 AffiE v = o

10. The Question Booklet will be issued to the candrdate at 10:45 A.M. and the candidate must fill all entries in Question Booklet
and OMR Answer Sheet. The Question Booldet seals shall be opened at 11:00 A M. After opening the Question Booklet, ensure
that any page/ question is not missing / not pnnted / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and gel it replaced within 10 minutes by the Invigilator, Warning Bell will ring at

12:25 P.M. d the ] 1 bell will t 12:30 P.M.
S s vt e 4 amﬁwm@m@mmommﬁaﬁwm&mﬁwm < e

| @iv &1 99 11:00 9 &) 9T Fe & e Rt A 98 ¥ o fm 3 P 31? m@gzrﬂ’r

g ¥ 4 wog ot & / I T @ %maﬂ%w q:s'rm%mﬁw 4 38 TR # FHE e %

mﬁwmﬁﬂz*\ﬁmm 3%::’;! o | S gt ST 12:25 T &9 O :\Wﬂ?maofﬂ
|

Il. Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space provided in the Question Booklet as well as in the OMR Answer Sheet. ) . X
prc] T OMR ¥iie W i WM W 9w % 1 FI3, T T, OMR VIIe FHih, W [ReaH FHiw, 74 (0@ 9 H9 gRmEn F)
12, With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according 1o you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
Answer Sheet corresponding to the guestion. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowed.

FIF W F IR AHETF IW A, B, C T 0 ° KRG T E| v A vy % 9 FE T F 993 F¢ IgF I F oMR ¥ ¥ w=fym
%ﬁgﬁ%waﬁﬁnﬁaﬁmaﬂsﬁaaﬁlmﬁw% e a1 Fit AT 9T A UG B AR T @ e F o

Correct method : | CORRECT / T8 | yror einoq . | WRONG / @ WRONG / WFiel | | WRONG / T/t WRONG / TF
- QOO @|matw:. |ROOO| |0OQ00| |O000| | Ce0e
13. OMR Answer Sheet is designed for computer evaluation. [f you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall I;chzot%he candidate only. & for ¥ s & e = w3,
OMR HIGZT TR Hed= CRICIEIE A 9 I7F TH OMR PR 1 e I g
ST iRl S & A | FH FO1 F el e At TEA S SRR gt s e |
14. No candidate should leave the Examination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet
should be handed over together to the Invigilator before leaving the Exammanon Hall,
T et TR ®
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FY ST AT B



